26.74:
 a) 
[image: image1.wmf].

k

140

k

50

1

k

200

1

k

100

1

eq

W

=

÷

÷

ø

ö

ç

ç

è

æ

W

+

W

+

W

=

-

R

 


[image: image2.wmf]V.

4

.

114

k

50

1

k

200

1

)

A

10

86

.

2

(

.

A

10

86

.

2

k

140

kV

400

.

0

1

3

k

200

3

=

÷

÷

ø

ö

ç

ç

è

æ

W

+

W

´

=

=

Þ

´

=

W

=

Þ

-

-

W

-

R

I

V

I



b) 
 EMBED Equation.3  
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 then we carry out the same calculations as above to find
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c) 
 EMBED Equation.3  
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266

A

10

33

.

1

k

300

find

we

then

,

If

k

200

3

eq

=

Þ

´

=

Þ

W

=

¥

=

W

-

V

I

R

V

R



_1121530967.unknown

_1121530968.unknown

_1120973448.unknown

_1120973729.unknown

_1120970611.unknown

